SAP ABAP table V EHAUX {Generated Table for View}

ADRC

CLIENT [CLNT (3)]

V_EHAUX-ADDRNUMBER = ADRC-ADDRNUMBER 0-N ADDRNUMBER [CHAR (10)]

- DATE_FROM [DATS (8)]

-7 NATION [CHAR (1)]

T000
V_EHAUX-MANDT = T00O- M:M—\T]—)':l:' ________ 0-N [MANDT [CLNT (3)]
o T002
V_EHAUX-SPRAS = T002-5PRAS - —-- 0..N [SPRAS [LANG (1)]
1~ V EHAUX-BEGRU = T370B-BEGRU
_____________________ T3708B
V EHAUX-FLTYP = T370F-FLTYP 0..N | MANDT [CLNT (3)]

BEGRU [CHAR (4)]

T T370F
V_EHAUX-TPLKZ = T370S-TPLKZ 0.N MANDT [CLNT (3)]

FLTYP [CHAR (1)]

S T370S
- 5N [MANDT [CINT (3)]
TPLKZ [CHAR (5)]




